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QUESTION 1

How can conditional restarts affect sequence objects? 

A. Gaps may exist. 

B. Duplicate entries will be deleted. 

C. All values will be reset beginning from 1. 

D. All values will be reset beginning from 0. 

Correct Answer: A 

 

QUESTION 2

Which z/OS or DB2 component is required for stored procedures that run in a WLM-established address space? 

A. Call attachment facility 

B. TSO attachment facility 

C. Distributed data facility 

D. Resource recovery services 

Correct Answer: A 

 

QUESTION 3

A given buffer pool is to be used for sequentially accessed pages only. Setting which buffer pool attribute to 0 (zero) will
disable parallel processing operations in this buffer pool? 

A. DWQT 

B. VDWQT 

C. VPSEQT 

D. VPPSEQT 

Correct Answer: D 

 

QUESTION 4

Which subsystem parameter is used to enable the RECOVER utility to use system-level backups as a recovery base? 

A. RESTORE_TAPEUNITS 
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B. SYSTEM_LEVEL_BACKUPS 

C. UTILS_DUMP_CLASS_NAME 

D. RESTORE _ RECOVER_ FROMDUMP 

Correct Answer: D 

 

QUESTION 5

The subsystem parameter PKGREL_COMMIT is set to YES. Which statement is true for packages bound with
RELEASE(DEALLOCATE)? 

A. A persistent thread will release an active package at every COMMIT or ROLLBACK. 

B. A persistent thread will not release an active package at COMMIT or ROLLBACK. 

C. A persistent thread will release an active package at COMMIT if there is a REBIND PACKAGE request on that
package. 

D. A persistent thread will not release an active package at ROLLBACK if there is a REBIND PACKAGE request on that
package. 

Correct Answer: A 

 

QUESTION 6

What utility can benefit from the additional zllP (IBM System z Integrated Information Processor) enablement inDB2 11? 

A. COPY 

B. RUNSTATS 

C. CHECK INDEX 

D. MODIFY STATISTICS 

Correct Answer: B 

 

QUESTION 7

The statement cache table, DSN_STATEMENT_CACHE_TABLE. contains information about the SQL statements in the
statement cache. 

Which SQL statement will NOT capture information from the DB2 dynamic statement cache into this table? 

A. EXPLAIN STMTCACHE; 

B. EXPLAIN STMTCACHE ALL; 

C. EXPLAIN STMTCACHE STMTID integer; 
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D. EXPLAIN STMTCACHE STMTTOKEN string; 

Correct Answer: A 

 

QUESTION 8

What job will check for changes to DB2 that might impact your migration to Version 11 conversion mode? 

A. DSNTIJIC 

B. DSNTIJXA 

C. DSNTIJTC 

D. DSNTIJPM 

Correct Answer: C 

 

QUESTION 9

You received the following error message: 

DSNI012I -DB2A PAGE LOGICALLY BROKEN TYPE 00000302 NAME DBXX.TSYYY.X\\'00045065\\' DBID01B5
OBID0020 PAGE RBA OR LRSN CCA7C9FF11C4 LOG RECORD RBA OR LRSN CCA7C9FF1B78 MODNAME
DSNIOLIN ERQUAL 0000 

Which utility be used to obtain more information about what may be triggering this message? 

A. DSN1CHKR 

B. CHECK DATA 

C. DSN1COPY, PARM=\\'CHECK\\' 

D. DIAGNOSE DISPLAY ODB DBXXTSYYY ALL 

Correct Answer: D 

 

QUESTION 10

What will occur if the parameter PAGE PROTECT is set to YES? 

A. MSTR log buffers (OUTBUFF) will be placed in page-protected storage. 

B. IRLM is to load its common storage modules into page-protected storage. 

C. DIST buffers related to TCPIP connectivity are loaded into page-protected storage. 

D. DBM1 pages belonging to a buffer pool defined with PGFIX(YES) will be placed in page- protected 

Correct Answer: D 
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